Xt E DR

VST i

1. [FL®HIC

BN OFEITBNTHEHAMERZIO TR T, JEOMEIZT B a—F =R Wi
RiIZ, EOXICLTROLNTONHBEZRDL, a5 Lic L, 3D
IEfEREZ RO D DITHE L > 7cD T, MaRDDZ LIZ L, ZOWBET, D
FOZTHIUL LY EREREDNRD BN D0 % B 2 THI,

2. IREAS
(1) loglo 1’\”10g10 10%;"%&560 32 — 9 : 8(1: L/"C
log;03% = log;,8 = 3log;42 = 3 X 0.30 = 0.90
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210 = 1024 = 1000 & LT 2logys3 = 0.90

log;o2'% =3 log193 = 0.45
10log02 = 3
log1p2 = 0.3 KD THUE & Az VT
logi94 =2 % 0.30 = 0.60
108105 = log1o7 £ ¥ log;o8 = 3 X 0.30 = 0.90
log195 =10g1910 —logyp2 =1—-03=10.7 log,1p9 =2 x 0.45 = 0.90
log106 = 0.30 + 0.45 = 0.75
49=50 LT
log,07% = 10g1,50 = log;410 + log;,5 log1p1=0 log,, 6 = 0.75
=1+07=17 logyo 2 = 0.30 log;o 7 = 0.85
log,07% = 1.7 log;o3 = 0.45 log,0 8 = 0.90
2logy7 = 1.7 log,94 = 0.60 log9 = 0.90
log1o5=10.70 logip10=1
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logio1=0 log,06 = 0.7775
TNENDREDIEME/E (logyo 2~ logip2 = 0.30 log,o 7 = 0.8443
logo 91/ N S AHT H EAREZ D 0 $50) logio 3 = 0.4775 log;, 8 = 0.90
logi04 = 0.60 logi199 = 0.9550
log105 = 0.70 log;010 =1
logio3 = 0.4771 | log; 4 = 0.6020 | log;, 5 = 0.6989
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